

# On Mikusiński's algebraical theory of differential equations

by

R. SIKORSKI (Warszawa)

Let  $F$  be a linear space over an algebraical field  $C$  with the characteristic zero. The letters  $x, y, z$  (with indices, if necessary) will always denote elements of  $F$ , the letters  $a, b$  — elements of  $C$ , and the letters  $P, Q$  — polynomials of a variable  $\xi$  with coefficients belonging to  $C$ .

Let  $D$  be an abstract derivation in  $F$ , i. e. an endomorphism<sup>1)</sup> of  $F$  such that

(I) if

$$(1) \quad P(\xi) = a_0 \xi^p + a_1 \xi^{p-1} + \dots + a_p$$

is a polynomial of degree  $p$ , then the equation<sup>2)</sup>  $P(D)x = 0$ , i. e. the equation

$$(2) \quad a_0 D^p x + a_1 D^{p-1} x + \dots + a_{p-1} D x + a_p x = 0$$

has at most  $p$  linearly independent solutions  $x_1, \dots, x_p$ ;

(II) if the equations  $P_1(D)x = 0$  and  $P_2(D)x = 0$  (where  $P_1$  and  $P_2$  are polynomials) have exactly  $p_1$  and  $p_2$  linearly independent solutions respectively, then the equation  $P_1(D)P_2(D)x = 0$  has exactly  $p_1 + p_2$  linearly independent solutions.

Suppose also that

(III) each element  $x \in F$  is a solution of an equation  $P(D)x = 0$  for a non-zero polynomial  $P$ .

The equation (2) is an abstract homogeneous differential equation with constant coefficients. By (III),  $F$  is a space of solutions of equations (2). In the theory of ordinary differential equations (2) with real (or complex) coefficients, the space  $F'$  of all real (or complex) solutions of all

<sup>1)</sup>  $U$  is said to be an endomorphism of a linear space  $F$  (over a field  $C$ ) if  $U$  is a mapping of  $F$  into itself and  $U(ax + by) = aUx + bUy$ .

<sup>2)</sup> If  $P$  is a polynomial of the form (1), then  $P(D)$  obviously denotes the endomorphism  $a_0 D^p + a_1 D^{p-1} + \dots + a_p D^0$ , where  $D^0$  is the identity endomorphism.

equations (2) is such that if a function  $x(t)$  is in  $F'$ , then the function  $tx(t)$  also belongs to  $F'$ , i. e., the transformation  $T$  defined by the equation

$$(3) \quad Tx(t) = tx(t)$$

is a linear endomorphism of  $F'$ . Moreover,  $DTx = TDx + x$  for  $x \in F'$  ( $D$  denotes here the usual derivation).

Mikusiński<sup>3)</sup> has proved that, in the case of an arbitrary linear space  $F$  with an abstract derivation  $D$ , there exists an endomorphism  $T$  which is an abstract analogue of the endomorphism (3). More exactly, he has proved the following theorem:

(M) Under the hypotheses (I), (II), (III), there is an endomorphism  $T$  of  $F$  such that  $DTx = TDx + x$  for every  $x \in F$ .

The purpose of this paper is to give another proof of Theorem (M). Since the knowledge of Mikusiński's paper is not assumed here, we start with the proof of some simple lemmas.

(i) If  $x_0$  is a solution of the equation  $P(D)x = 0$ , and  $P_1$  is any polynomial, then the element  $P_1(D)x_0$  is also a solution of this equation.

In fact,  $P(D)P_1(D)x_0 = P_1(D)P(D)x_0 = 0$ .

The letter  $Q$  will always denote a fixed polynomial, irreducible in  $C$ ,  $Q(\xi) = \xi^q + b_1 \xi^{q-1} + \dots + b_q$ , such that the equation  $Q(D)x = 0$  has a solution  $x \neq 0$ .

Let  $E_n$  ( $n = 0, 1, 2, \dots$ ) denote the linear space of all  $x \in F$  such that  $Q(D)^n x = 0$ , and let  $F_Q = E_0 + E_1 + E_2 + \dots$  be the linear space of all solutions  $x$  of all the equations  $Q(D)^n x = 0$ ,  $n = 0, 1, 2, \dots$ . Of course, we assume that  $Q(D)^0$  is the identity endomorphism of  $F$ , therefore  $E_0$  contains only the zero element 0 of  $F$ . Observe that  $E_0 \subset E_1 \subset E_2 \subset \dots$ .

It follows from (II) that the set  $E_{n+1} - E_n$  is not empty ( $n = 0, 1, 2, \dots$ ).

(ii) If  $Q^{n+1}(D)y = 0$  but  $Q(D)^n y \neq 0$  (i. e., if  $y \in E_{n+1} - E_n$ ), then  $P(D)y = 0$  if and only if the polynomial  $P$  is divisible by  $Q^{n+1}$ .

Consequently  $P(D)y \neq 0$  for every non-zero polynomial  $P$  of degree  $< (n+1)q$ .

If  $P = P_1 Q^{n+1}$ , then  $P(D)y = P_1(D)Q(D)^{n+1}y = 0$ .

If  $P$  is not divisible by  $Q^{n+1}$ , then  $Q^n$  is a multiple of the largest common divisor of  $P$  and  $Q^{n+1}$ . Therefore there exist polynomials  $P_1$  and  $P_2$  such that  $P_1 P + P_2 Q^{n+1} = Q^n$ . This implies that  $P_1(D)P(D)y = Q^n(D)y \neq 0$ . Hence  $P(D)y \neq 0$ .

<sup>3)</sup> J. Mikusiński, *Sur l'espace linéaire avec dérivation*, "ce fascicule, p. 113-123.

(iii) Let  $y \in E_{n+1} - E_n$ . An element  $x \in F$  belongs to  $E_{n+1}$  if and only if it is of the form

$$(4) \quad x = P(D)y,$$

where  $P$  is a polynomial of degree  $< (n+1)q$ . The representation of  $x$  in the form (4) is unique.

The element  $x$  of the form (4) belongs to  $E_n$  if and only if  $P$  is divisible by  $Q$ .

By (i), every element  $x$  of the form (4) belongs to  $E_{n+1}$ .

In particular, the elements

$$(5) \quad y, Dy, D^2y, \dots, D^{(n+1)q-1}y$$

belong to  $E_{n+1}$ . By the second part of (ii), they are linearly independent. Let  $x \in E_{n+1}$ . By (I), the element  $x$  and the elements (5) are linearly dependent, i. e.

$$x = a_0y + a_1Dy + \dots + a_{(n+1)q-1}D^{(n+1)q-1}y = P(D)y,$$

where  $P(\xi) = a_0 + a_1\xi + \dots + a_{(n+1)q-1}\xi^{(n+1)q-1}$ . Since the elements (5) are linearly independent, the coefficients  $a_i$  are uniquely determined by  $x$ , i. e., the representation of  $x$  in the form (4) is unique.

If  $x = P(D)y \in E_n$ , then  $Q(D)^nP(D)y = 0$ . By (ii), the polynomial  $Q^nP$  is divisible by  $Q^{n+1}$ , which implies that  $P$  is divisible by  $Q$ . On the other hand, if  $x = P(D)y$  and  $P$  is divisible by  $Q$ , i. e.,  $P = P_1Q$ , then  $Q(D)^nx = Q(D)^nP(D)y = P_1(D)Q(D)^{n+1}y = 0$ , i. e.,  $x \in E_n$ .

(iv) If  $y \in E_{n+1} - E_n$ , then every element  $x \in E_{n+1}$  can be uniquely represented in the form

$$(6) \quad x = P(D)y + x_1,$$

where  $P$  is a polynomial of degree  $< q$  and  $x_1 \in E_n$ , i. e. in the form

$$(7) \quad x = a_0y + a_1Dy + \dots + a_{q-1}D^{q-1}y + x_1, \quad (x_1 \in E_n).$$

The element  $x$  belongs to  $E_n$  if and only if  $P \equiv 0$ .

By (iii), we have  $x = P_1(D)y$ , where  $P_1$  is a polynomial of degree  $< (n+1)q$ . There exist polynomials  $P$  and  $P_2$  such that  $P_1 = QP_2 + P$  and the degree of  $P$  is  $< q$ . We have  $x = P(D)y + x_1$ , where  $x_1 = Q(D)P_2(D)y \in E_n$  on account of the second part of (iii).

On the other hand, if equation (6) holds, then  $x_1$  is of the form  $x_1 = Q(D)P_2(D)y$  by the second part of (iii). Consequently  $x = P_1(D)y$ , where  $P_1 = QP_2 + P$ . Since  $P_1$  is uniquely determined by  $x$  on account of (iii), so are  $P$  and  $P_2$ . This proves the uniqueness of the decomposition (6).

(v) If  $x \in E_{n+1}$ , then there exists an element  $z \in E_{n+2}$  such that

$$(8) \quad Q(D)z = x.$$

If  $x \in E_{n+1} - E_n$ , then  $z \in E_{n+2} - E_{n+1}$ .

Let  $y \in E_{n+2} - E_{n+1}$ . By (iii) (where  $n$  should be replaced by  $n+1$ ), there exists a polynomial  $P_1(D)$  of degree  $< (n+1)q$ , such that  $x = Q(D)P_1(D)y$ . The element  $z = P_1(y)$  fulfils equation (8).

If  $z \in E_{n+1}$ , then  $Q(D)^nx = Q(D)^{n+1}z = 0$  by (ii), i. e.  $x \in E_n$ .

(vi) There exist an endomorphism  $T$  of  $F_Q$  such that  $DTx = TDx + x$  for  $x \in F_Q$ .

Let  $x_0 \neq 0$  be an element such that  $Q(D)x_0 = 0$ , i. e.,

$$(9) \quad x_0 \in E_1 - E_0.$$

We define, by induction, the linear transformation  $T$  on the subspaces  $E_n$  ( $n = 0, 1, 2, \dots$ ) of the space  $F_Q$  in such a way that

$$(10) \quad DTx = TDx + x \quad \text{for } x \in E_n,$$

$$(11) \quad T(E_j - E_{j-1}) \subset E_{j+1} - E_j \quad \text{for } j = 1, 2, \dots, n.$$

On the subspace  $E_0$  the transformation  $T$  is obviously defined by the formula  $T(0) = 0$ .

Suppose that  $T$  is defined on  $E_n$  so that (10) and (11) hold. We extend  $T$  to  $E_{n+1}$  as follows.

Let  $y = T^n x_0$ . Condition (11) implies that  $T^n(E_1 - E_0) \subset E_{n+1} - E_n$ . In particular

$$(12) \quad y = T^n x_0 \in E_{n+1} - E_n.$$

Consequently (see (iii))

$$(13) \quad D^i y \in E_{n+1} - E_n \quad \text{for } i = 0, 1, \dots, q-1.$$

It follows also from (iii) that  $Q(D)y \in E_n$ , which implies, by (11),  $TQ(D)y \in E_{n+1}$ .

Let  $Q'$  be the ordinary derivative of the polynomial  $Q$ , i. e.

$$Q'(\xi) = q\xi^{q-1} + (q-1)b_1\xi^{q-2} + \dots + b_{q-1}.$$

Since  $Q'(D)y \in E_{n+1}$  by (13), we infer that  $TQ(D)y + Q'(D)y \in E_{n+1}$ . By (v) there exists an element  $z \in E_{n+2}$  such that

$$(14) \quad Q(D)z = TQ(D)y + Q'(D)y.$$

We define the values of the transformation  $T$  at elements (13) by the formulae

$$\begin{aligned}
 Ty &= z, \\
 TDy &= Dz - y, \\
 TD^2y &= D^2z - 2Dy, \\
 &\dots\dots\dots \\
 TD^iy &= D^iz - iD^{i-1}y \\
 &\dots\dots\dots \\
 TD^{q-1}y &= D^{q-1}z - (q-1)D^{q-2}y.
 \end{aligned}
 \tag{15}$$

For an arbitrary element  $x \in E_{n+1}$  of the form (7) we define  $Tx$  by the formula  $Tx = a_0Ty + a_1TDy + \dots + a_{q-1}TD^{q-1}y + Tx_1$ .

Of course,  $T$  is a linear transformation on  $E_{n+1}$ . It immediately follows from (15) that, for every polynomial  $P$  of degree  $< q$ ,

$$P(D)z = TP(D)y + P'(D)y. \tag{16}$$

In order to show that

$$DTx = TDx + x \quad \text{for } x \in E_{n+1} \tag{17}$$

it suffices to prove equality (17) for elements (13) only. Multiplying the  $i$ -th equation (15) by  $D$  and subtracting it from the  $(i+1)$ -th equation (15), we infer that (17) is true for elements  $y, Dy, \dots, D^{q-2}y$ , i. e.

$$DTD^iy = TD^{i+1}y + D^iy \quad (i = 0, 1, \dots, q-2).$$

Replacing  $P(D)$  by  $D^q - Q(D)$  in equality (16), we obtain

$$(D^q - Q(D))z = T(D^q - Q(D))y + (qD^{q-1} - Q'(D))y.$$

Consequently, by (14),

$$D^qz = TD^qy + qD^{q-1}y. \tag{18}$$

Multiplying the last of the equalities (15) by  $D$  and subtracting from (18), we obtain  $DTD^{q-1}y = TD^qy + D^{q-1}y$ , which completes the proof of (17).

Now we shall prove that the transformation  $T$  extended to  $E_{n+1}$  satisfies also the second inductive hypothesis, i. e. that

$$T(E_{n+1} - E_n) \subset E_{n+2} - E_{n+1}. \tag{19}$$

On account of (11) we have

$$T^i(E_1 - E_0) \subset E_{i+1} - E_i \quad \text{for } i = 1, \dots, n. \tag{20}$$

It follows from (17) that, for every polynomial  $P$ ,

$$P(D)T^n x_0 = \binom{n}{0} T^n P(D)x_0 + \binom{n}{1} T^{n-1} P'(D)x_0 + \binom{n}{0} P''(D)x_0 + \dots,$$

where  $P', P'', \dots$  are the ordinary derivatives of the polynomial  $P$ . Hence, by (9) and (20),

$$\begin{aligned}
 Q(D)z &= TQ(D)y + Q'(D)y = TQ(D)T^n x_0 + Q'(D)T^n x_0 \\
 &= \binom{n+1}{1} T^n Q'(D)x_0 + \binom{n+1}{2} T^{n-1} Q''(D)x_0 + \\
 &\quad + \binom{n+1}{3} T^{n-2} Q'''(D)x_0 + \dots \in E_{n+1} - E_n
 \end{aligned}$$

since  $Q'(D)x_0 \neq 0$  (see (ii)), i. e.  $Q'(D)x_0 \in E_1 - E_0$ . Hence we infer on account of the second part of (v) that

$$z = Ty = T^{n+1}x_0 \in E_{n+2} - E_{n+1}. \tag{21}$$

If  $x \in E_{n+1} - E_n$ , then, by (iv),  $x = P(D)y + x_1$ , where  $P$  is a non-zero polynomial of degree  $< q$ , and  $x_1 \in E_n$ . Hence, by (16),

$$Tx = TP(D)y + Tx_1 = P(D)z - P'(D)y + Tx_1.$$

Since  $P(D)z \in E_{n+2} - E_{n+1}$  by (21) and (iii),  $P'(D)y \in E_{n+1}$  by (12) and (i), and  $Tx_1 \in E_{n+1}$  by (11), we infer that  $Tx \in E_{n+2} - E_{n+1}$ , which completes the proof of (19).

(vii) The space  $F$  is the direct sum of all subspaces  $F_Q$  where  $Q$  is any irreducible polynomial such that the equation  $Q(D)x = 0$  has a solution  $x \neq 0$ .

It suffices to prove that every element  $x \in F$  can be represented in the form

$$x = x_1 + \dots + x_r, \tag{22}$$

where  $x_i \in F_{Q_i}$  ( $i = 1, \dots, r$ ) and  $Q_i$  are different irreducible polynomials, and that the decomposition (22) is unique (up to summands equal to zero).

By (III) we have

$$P(D)x = 0 \tag{23}$$

for a non-zero polynomial  $P$ . We have then  $P = Q_1^{n_1} Q_2^{n_2} \dots Q_s^{n_s}$ ,

where  $Q_j$  ( $1 \leq j \leq s$ ) are different irreducible polynomials of degree  $q_j$  respectively, and  $a \neq 0$ . Suppose that if  $1 \leq j \leq r$ , the equation  $Q_j(D)x = 0$  has a non-zero solution, and if  $r < j \leq s$ , it has only the zero solution.

If  $1 \leq j \leq r$ , let  $y_j$  be an element such that  $Q_j^{n_j}(D)y_j = 0$  but  $Q_j^{n_j-1}(D)y_j \neq 0$ .

The elements

$$(24) \quad y_j, Dy_j, D^2y_j, \dots, D^{n_jq_j-1}y_j \quad (j = 1, \dots, r)$$

are solutions of (23). Suppose that a linear combination of (24) is equal to zero, *i. e.*

$$(25) \quad P_1(D)y_1 + \dots + P_r(D)y_r = 0,$$

where  $P_j$  is a polynomial of degree  $< n_jq_j$ . Let

$$(26) \quad H_j = Q_1^{n_1} \dots Q_{j-1}^{n_{j-1}} Q_{j+1}^{n_{j+1}} \dots Q_r^{n_r}.$$

Multiplying (25) by  $H_j(D)$  we infer that  $H_j(D)P_j(D)y_j = 0$ . Hence, by (ii),  $P_j \equiv 0$  ( $j = 1, \dots, r$ ). This proves that if a linear combination of (24) is equal to zero, then all the coefficients are also equal to zero. Therefore elements (24) are linearly independent.

It follows from (II) and (iii) that equation (22) has exactly  $n = n_1q_1 + \dots + n_rq_r$  linearly independent solutions. Since the number of elements (24) is equal to  $n$ , they constitute a basis for the space of all solutions of (23). Therefore, if  $x$  satisfies (23), we have

$$x = P_1(D)y_1 + \dots + P_r(D)y_r,$$

for some polynomials  $P_1, \dots, P_r$ , *i. e.* the decomposition (22), where  $x_j = P_j(D)y_j$ .

To prove the uniqueness of (22) it suffices to show that if the decomposition (22) holds and  $x = 0$ , then  $x_j = 0$  for  $j = 1, \dots, r$ .

In fact, let  $n_j$  be the least non-negative integer such that  $Q_j^{n_j}(D)x_j = 0$ . Multiplying (22) by  $H_j(D)$ , where  $H_j$  is defined by (26), we infer that  $H_j(D)x_j = 0$ . By (ii),  $H_j$  is divisible by  $Q_j^{n_j}$ , which implies  $n_j = 0$ . Therefore  $x_j = 0$ .

Theorem (M) is an immediate consequence of (vi) and (vii). In fact, first we define the transformation  $T$  on each of the subspaces  $F_Q$  separately. If  $x \in F$  is of the form (22), we assume  $Tx = Tx_1 + \dots + Tx_r$ .

Reçu par la Rédaction le 13. 11. 1956

STUDIA MATHEMATICA publient des travaux de recherches (en langues des congrès internationaux) concernant l'Analyse fonctionnelle, les méthodes abstraites d'Analyse et le Calcul de probabilité. Chaque volume contient au moins 300 pages.

Les manuscrits dactylographiés sont à adresser à

M. Hugo Steinhaus

Wrocław 12 (Pologne), ul. Orłowskiego 15,

ou à

M. Marcelli Stark

Warszawa 10 (Pologne), ul. Śniadeckich 8.

Les auteurs sont priés d'indiquer dans tout renvoi bibliographique le nom de l'auteur et le titre du travail cité, l'édition, le volume et l'année de sa publication, ainsi que les pages initiale et finale.

Adresse de l'échange:

Warszawa 10 (Pologne), ul. Śniadeckich 8.

STUDIA MATHEMATICA sont à obtenir par l'intermédiaire de

ARS POLONA

Warszawa (Pologne), Krakowskie Przedmieście 7.

Le prix de ce fascicule est 2 zł.

Printed in Poland

Państwowe Wydawnictwo Naukowe — Warszawa 1957

Nakład 900+120 egz.

Podpisano do druku 3.VIII.1957.

Ark. wyd. 7,25, druk. 8,875

Druk ukończono w sierpniu 1957.

Pap. ilustr. kl. III, 100g 70×100

Zamówienie nr 339/57

Cena zł 21,80

Wrocławska Drukarnia Naukowa, Wrocław, ul. Świerczewskiego 19